N = 0l & AF & F Al A

20118 =& 1 3 LESH JIEBSEH ENEEN ~ EXNFEED

SN EXNESD
o EXNFE AEE} HH(IELXANL /AL EA)
o9l E8Hol EXRE (Sl & 2
HI . 2(SH) - MEAY - BY= 0ff &+ o4 )= e bRz
2,918,463 3,132,018 A213,555
2 120,300 543,000 £422,700
s 193,000 0 193,000
Al 2,605, 163 2,589,018 16, 145
UC Al 2,838,980 3,048,353 £209,373
= 120,300 543,000 A422,700
s 193,000 0 193,000
Al 2,525,680 2,505,353 20,327
sEX0 £X22 1,491,389 1,243,430 247,959
SDXNE 1: 0ISSEXN MASES X2
SElEE 2EX 130 2X
HBXE 2 TRATA AXE
SEEE SEX 4.9 %
2 120,300 86,000 34,300
s 193,000 0 193,000
Al 1,178,089 1,157,430 20,659
ENSESY 65,224 68,530 3,306
201 Lty 60,924 64,130 A3,206
01 ALRZelt] 60,924 64,130 A3,206
SSANLY OHHRIES L s 5oMA
Rz =2 2T 1,794,0002! 1,794 5,000 £3,206
203 HRFAY| 1,900 2,000 A100
03 AlZ =X =TY| 1,900 2,000 A100
ZQ ENYSD AMEN Y
27 1,900,0002! 1,900 2,000 A100
EXNZAS 201,900 202,000 A100
201 Lty 1,900 2,000 A100
01 ARl 1,900 2,000 A100
ENEANYR S U2 oy B2
2 1,900,002 1,900 2,000 A100
CEYYASHSEE 923,965 924,900 £935
= 86,000 86,000 0
Al 837,965 833,900 £935
201 L2yl 116,815 117,700 885
2 54,000 54,000 0
Al 62,815 63,700 2885
01 ALR eIt 116,815 117,700 885
MZEL SEE HX 22 2F 3,115,008 3,115 4,000 2885
203 HRFAY| 950 1,000 A50
03 AlMET AR =Y 950 1,000 A50
MEAAY AMHRET B2 HE 950,008 950 1,000 A50
CRYUANSHSHE(2X) 218,000 0 218,000




SN EXNER Y
I ENEE P} HE(FELNAWL/NALEA)

cel: agX0l EXze (ool @9
S S(3H) - HEAMY - BES Ofl AF oM J1 =M Hnz2
= 193,000 0 193,000
Al 25,000 0 25,000
201 23| 28,000 0 28,000
= 14,000 0 14,000
Al 14,000 0 14,000
01 A2 2eltl 28,000 0 28,000
TE2HFA FBAAE 29 BFHA 28,000 0 28,000
S 14,000 0 14,000
Al 14,000 0 14,000
308 NXIHMSOIH 168,000 0 168,000
S 168,000 0 168,000
01 XXSHHBIAEELZ 168,000 0 168,000
TEYEA M= M 12X - DA K& 168,000 0 168,000
S 168,000 0 168,000
405 RH&HE SHI 22,000 0 22,000
=S 11,000 0 11,000
Al 11,000 0 11,000
01 AMHALEEEFHSHI 22,000 0 22,000
CT2YFA FEANALR2Y SHNA(HZ22S) 22,000 0 22,000
= 11,000 0 11,000
Al 11,000 0 11,000
NHRE(2H) 5,000 0 5,000
= 5,000 0 5,000
202 04t 5,000 0 5,000
= 5,000 0 5,000
01 =ZLHOA I 5,000 0 5,000
NESS =8 | 5,000 0 5,000
= 5,000 0 5,000
INESEEONEED! 29,300 0 29,300
= 29,300 0 29,300
308 KX SHHSO0IA 29,300 0 29,300
2 29,300 0 29,300
01 IXSHMBAREZ 29,300 0 29,300
IOV 29,300 0 29,300
= 29,300 0 29,300
ANRIEAS HEHSAAY 15 1,347,591 1,804,923 457,332
SDXE 1 S$TAZ O 2 03
goldE S EXl 4,500 04
= 0 457,000 A457,000
Al 1,347,591 1,347,923 N 332
SSAIREY L JABAS 606,318 606,650 A 332
201 Let29h| 6,318 6,650 A 332
01 AtR2t2ldl 6,318 6,650 A332
SIEXH 2HARE M2 AR 2 068,000 2,068 2,400 A332
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SN EXNER Y
I ENEE 0HP} HE(FELXNAWL/NALEA)
BS

Sol: ASISAO BEHBALY 2 CCRED
SA-E . S(E) - MEAY - BES 01l &4 24 pJE-T SImE=ET
1/1,000=X X8 =& - M 457,000 914,000 A457,000

= 0 457,000 457,000

Al 457,000 457,000 0

403 AXIHHSK=201H 457,000 914,000 A457,000

= 0 457,000 A457,000

Al 457,000 457,000 0

02 BII2SHHSCHA AL I 457,000 914,000 A457,000
/1,004 XNEE 45 - M=

d& 457,000,000 457,000 914,000 457,000

= 0 457,000 457,000

Al 457,000 457,000 0

HE 2L ZH(EXNZEW)(JIEH/DIEL) 79,482 83,665 N4,183

Jl=2Z 4l 79,482 83,665 N4,183

Jl=&d| 79,482 83,665 N4,183

201 Zet=g&l 22,990 24,200 A 1,210

01 AtR 22/t 22,990 24,200 A 1,210

FA2EII=2+=2H EZ 2 & 13,290,000 13,290 14,500 1,210

202 O4dl 52,502 55,265 N2,763

01 WY 52,502 55,265 A2,763

2 SHE0H 2 Z & 39,237,000& 39,237 42,000 N2,763

203 AR =& 3,990 4,200 2210

04 BEN2IHRFAH 3,990 4,200 A210

FAN2EZRFAH 2 2 & 3,990,000 3,990 4,200 A210

WL ES(ENZET) (FELTATNL /KAL) 1 0 1

28X = 1 0 1

ZNEXS B 1 0 1

802 Bret=JIEt 1 0 1

01 =EXste=s 1 0 1

NHSLET ZASS Haz 1 0 1




